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FOREWORD

The National Examinations Council of Tanzania (NECTA) is pleased to issue this
Candidates’ Item Response Analysis (CIRA) report of the Form Four National
Examination (CSEE) for 2019 in the Chinese Language subject. The examination
provides an evaluation of the product of candidates’ learning the Chinese Language in
Tanzania for four years at ordinary secondary level.

The analysis presented in this report is intended to contribute towards the
understanding of possible reasons behind the candidates’ performance in Chinese
Language subject. The report highlights the factors that made the candidates to either
perform well or poorly in the questions. The factors which made most of the
candidates perform well are their ability to answer the questions according to the
requirements as well as their competence in the Chinese Language. However, those
who performed poorly failed to comprehend the requirement of the questions and
lacked knowledge on the Chinese Language. These candidates also failed to apply the
principles and rules related to the use of the Chinese Language.

The feedback provided will enable the education administrators, school managers,
teachers, students and education stakeholders to take appropriate measures in order to
improve candidates’ performance in future examinations administered by the Council.

Finally, the council would like to thank the examinations officers, statisticians,
Information and Communication Technology (ICT) experts, teachers and all those
who participated fully in preparing and analyzing the data used in this report.

.

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report analyses the performance of the candidates who sat for the Form
Four National Examination (CSEE) in the Chinese Language subject in
November, 2019. The analysis indicates strengths and weaknesses of the
candidates when answering the questions. The focus of the analysis was on
questions which were performed well, those with an average performance and
those with poor performance.

The analysis of the candidates’ performance in individual questions is
presented by indicating the percentage of those who attempted the question
and those who scored various marks. The focus is on the percentages of
students with high marks, average marks and low marks. Extracts of responses
from candidates’ scripts have been presented to show how the candidates
answered questions in relation to each item’s requirement.

Three categories of performance have been established in the analysis of the
candidates’ performance in each topic. The performance from 65 to 100
percent is categorized as good, from 30 to 64 percent as average, and from 0
to 29 percent as weak. Three basic colors have been used to represent the
candidates’ performance: green indicates a good performance; yellow shows
an average performance while red denotes a weak performance. The
candidates’ performance in each topic is summarized in the Appendix A.

The Chinese Language Examination for CSEE 2019 tested the candidates’
competences in Comprehension, patterns and vocabulary, Grammar patterns,
Language Use and Composition. The Chinese Language paper had five
sections A, B, C, D and E, with a total of 13 compulsory questions. Section A
had 2 questions and each question carried 10 marks, thereby making a total of
20 marks. Section B comprised of 3 questions: questions 3, 4 and 5. Questions
3 and 4 carried 5 marks each and question 5 carried 10 marks thus making a
total of 20 marks. Section C had 3 questions, question 6 and 7 carried 5 marks
each, and question 8 carried 10 marks, making a total of 20 marks. Section D
had 3 questions, questions 9 and 10 carried 5 marks each, and question 11
carried 10 marks, making a total of 20 marks. Section E had 2 questions; each
question carried 10 marks, thus making a total of 20 marks. All the questions
were set in accordance with the 2015 Chinese Language syllabus for pilot.



A total of 150 candidates registered for Form Four National Examination
2019, of whom 06 were absent. The total of 144 candidates passed the
examination and this indicates that none of the candidates failed the
examination. The performance of candidates in each grade is shown in Table
1.

Table 1: Candidates’ Pass Grades in CSEE 2019.

Year Sat GRADES
A B C D F Total
2019 144 40 33 55 16 0 144
% of
] 100% | 27.8% | 22.9% | 38.2% | 11.1% 0 100%
Candidates

Table 1: shows the candidates’ pass grades and percentage.



20 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

2.1

Section A: Comprehension

There were two questions in this section, which were questions 1 and
2. Each question was worth 10 marks, thus making a total of 20 marks.
The candidates were required to read the passage and answer the
questions using the information obtained from the passage. This
section tested the candidates’ ability to read and comprehend the
passage.

2.1.1 Question 1: Multiple Choices

In this question, the candidates were instructed to read the
passage and use the information from the passage to choose the
correct answers. The responses were supposed to be chosen
from alternatives A, B, C and D. The candidates were provided
with a passage from the topic of Travel and Custom. The
passage was about introducing her friend and the places she
visited. The question tested the candidates’ ability to
comprehend the information in the passage. The passage and its
questions were as follows:



—. WEdESL, @EPE. RAEEL, AFEHMEE.

Géi da jia jigshio yi xia, zhe shi wo de hdo péngyou, 13 xing chén, jido Xidofan, jinnian shi gi

BHREMB—TF, TRLGEMA, LK, A, 45+k&
sui, bi wO xido yi sui, hdi shi gé xido méimei. Ta zai Yingguo chishéng, lit sui yi gidn yizhi zhi zai
¥, A b—F, ZRMIRK, MAERB R A, SFUAN—LGEE
Yingguo, litt sui ythou hé fumu ldi dao le Zhonggud, xianzai jid zai Guingzhou, sudyi 1a de yingyi hé
EHE, RYUBRLARITFE, SERET N, Al 3EiEfe
Hanyti dou shud dé hén hao. Xidofin xihuan yandong, winggit di dé hén hiio.Yé& xihuan yinyue, gé
REHGEFRIF. PABEREFD, ARITHERS. LERF R, H
Chiing dé hao dé bi délido. Ta hdi xihuan lixing, QU gud hén dud difang, Qi Béijing canguin gud
BHERAFAHET. WEERKT, FdRhFsy, 27450
GuGong hé Chdngchéng. Qi Landancanguangud  Dayingbowlguan, Hdi qi guo Tansangniya de
HOF Ao KO R AW REWHIE, LT ER T
Sailungaidi  guojia gongyuan. Wo hén gaoxing you ta zhe ge péngyou.
e ZFRELE.  HKERHAAHEINNL

Liri: Chén Xidofan xing shénme ?

Wldo: TR AL L7?

Da’an
BEE:A
Chén  Xido Fin Xiaofdn

A% B CH DA

Wo bi Chén Xidofan .
AR FR DL o

xido yi sui xido lidng sui da yT sui da liang sui

Ad—4 B A ¥ Cc k—¥% D kB ¥
Lit sui yigian Xidofan jia zai nar?

2.7 F ET LR ALY

Yingguo Zhdngguo Guangzhou Béijing
A RE B B c I D A

Xidofén chi le zhongwén, hai hui shud shénme?

CPHLRT P, A Al

(%)

Riwén Stwaxiliyi Fawén Yingwen
A HIL BMAMEE CcFHEL DHEL
Xidofén de aihao you yindong, yinyué, hai you shénme?
SRS FES ., FR, B A

Wiinggiu Changgé Liixing Langid
A A B BH C #FF D ik

=

Xidofan qi Lundiin canguan guo nd gé difang?

S E e AL DA ?

i

Gugong Chéngchéng Dayingbéwiiguan Sailangaidigdngyuan

A HE B KK C K¥EMWE D EHEFSR




The question was attempted by 144 (100%) candidates, of which

83 (57.6%) candidates scored from 8 to 10 marks, out of these
33 (22.9%) candidates scored 10 marks, which is a good
performance. Furthermore, 57 (38.9%) candidates scored from
4 to 6 marks, which is an average performance and only 5
(3.5%) candidates scored from 0 to 2 marks, which is a weak
performance. The analysis shows further that, 1 (0.7%)
candidate scored 0. The candidates’ general performance in this
question was good because 125 (96.8%) candidates scored
from 6 to 10 marks. Figure 1 summarizes the candidates’
performance in question 1.

Score

m0-2
4-6

m8-10

Figure 1: The Percentage of Candidates’ Performance in Question
1.

The analysis of candidates’ performance indicates that, 83
(57.6%) candidates performed well the question. Those
candidates managed to read the passage and understood the
requirement of the questions. This implies that they had
adequate knowledge on Chinese vocabulary and this enabled
them to comprehend the whole passage. For example, in item 1,
the candidates were asked to fill in the blanks, # b )~ JU
(), (m(___ ) than Chen Xiaofan). In this item, the
candidates chose the correct answer which was C X — % (one
year older), due to the fact that they mastered well the sentence
structure: (...... tt....) (....than.....), as in the passage the
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sentence was bt #&J»— % (one year old young than me). They
also mastered the Chinese Language sentence structure S; + tt

+ S, + Adj. Extract 1.1 is a sample of a candidates’ good
response in question 1.

A 2 . a- >y S -
— A D P

Extréct 1.1is a sample of a good response.

In Extract 1.1, a candidate was able to write the correct answer
in all items.

Furthermore, the analysis shows that 57 (38.9%) candidates
scored from 4 to 6 marks. Most of candidates were not able to
answer items 1 and 4. For example, the candidates who failed
to answer item 1 had partial knowledge on the Chinese
grammar. The question was # b4 /> /U..... (I'm....Than
Chen Xiaofan). According to the first sentence of the passage,
it was indicated that # /£ # > — %, (She is one year
younger than me). The correct answer was £ — %’ (one year
older). The candidates wrote +~/>— % (one year younger)

because they failed to differentiate the two words /J» and X.
For instance, in item 4, some of the candidates did not know the
meaning of the word i£ (also) and this hindered them from
getting the correct information from the passage. Extract 1.2 is
a sample of averagely performed response in question 1.

e B S s 5
e S 2

Extract 1.2 is a sample of averagely performed response.

In Extract 1.2, a candidate was able to choose the correct answer in
items 2, 3 and 5 but failed in items 1 and 4.

Further analysis shows that, 5 (3.5%) candidates scored from 0
to 2 marks, which is a weak performance. These candidates
failed to provide correct answers due to the lack of

6



understanding of the passage. For example, some of them left
parts of the questions unanswered while others responded to the
question by guessing. Additionally, there were candidates who
copied the sentences from the passage and wrote them as
answers. In item 1, candidates understood that they were
supposed to compare the age, but they failed to choose the
correct answer because they did not master well the sentence
structure of S;+ /£ + S, + Adj. This was attributed to the lack of
competence in the Chinese Language which hindered them
from identifying the correct answers. Extract 1.3 is a sample of
a candidates’ poor response in question 1.

<

IIWG bt ch  xevgda SO i sui

# t P& la A - %

Q. Lls _([,u \g-q-Go )(iao,oa(\ pa  aai  nde ?

anj LR R A wpILT

-B ‘ = Lo sw IQVI'GO yi oht 2}1‘09‘!3? Yirgquo
@’ Al - B LAl - B Z g B
13- | Xidofan ch lo D}ionawa-’ b by hip  thin e ?
An P4 3w L B 3F I+ 47
= ¢ F&uwé |
VEAX

‘} "Xjalo’{én 9&' ‘?{ hap \ﬁgbfoﬁ;ﬂa, ?u'n l/}u";z ‘héu' o \_(l"enng?
A R Bb ¥ 234 = b FFH a0

= A Wi, a-u ]
] 3%
S xido ga0  qu  Wakin  Anuie  qu nd ae o&-.tm@)
N HFe AR sz 9 T A
C -B dt’macf?vm
B Ik

Extract 1.3 is a sample of candidates’ poor response.

In Extract 1.3, a candidate wrote incorrect answers in all items.



2.1.2 Question 2: Answering Questions with Chinese Characters
from the Passage Provided

In this question, the candidates were required to read the
passage and answer the questions provided. They were
supposed to answer the questions with Chinese characters
(Hanzi). The passage was from the topics of Family and
Entertainment. It was about an author, his father, his mother
and his grandmother. The passage was also about the fathers’,
mothers’ and grandmothers’ hobbies. This question tested the
candidates’ mastery of reading for comprehension skills in the
Chinese Language. The passage and its questions were as
follows:

= AR, FIRF S A A
Zuotian, baba zai wingshang ding le lidngzhang jingj pido, yinwei td feichdng xihuan jingji.

MR, EE A M b 9T T M TR 2, BH R R
B oW Al

Wo gén baba yiyang xihuan jingjii, juédé jingji youyisi ji le. Women disuan jinwan qi kin
AR EE —H Bk RE, EH A A FE MK T. KN HHF A
W A

jingju bidoyiin. Késhi juyuan Ii xuéxido hén jin, 1f wo jid hén yudn, cong wa jid dio jiyuin zud

TR RiE. TR B OB FR R U, H KKK E AR K
BB P

che yao yige xidoshi. Wo de mama b xihuan jingjii, ta xihuan shafd hé  taijiquan. Mama méitian
£ 5 —A IE. £ 8 BB R B WA, 4 BRFEA KE. B9
E 2

dou qi xuéxiao xuéxi shifi. Niinai hé mama yiyang yé shifén xihuan da taijiquén, thijiqudn hér
A FA F3 Pk, Wh A BE-# b o B 4T KHLE, K
L S
réngyi, xingqitian timen changchéng yigi qi hi bian da taijiqudn.
£, EMA RN FERE ARATKRE,
Lird: We&n: Baba shénme shi hou ding de pido?
Pldm: Fl: £& 4 BT 8 R
D4: Baba zudtian ding de pido.

L.EE R T E .

Biaba zii ndr ding de pido? Mima bii xthuan shénme ?
1. €& & ML IT 8 F? 4. BEHTER FA47
Juyuan ddo t3jid zud ch@ ydo dud chang shijian? Mama hé ndinai qu nir di thijiquan?
2. Bz #) R A& & SR OWRA?5 B R W £ L 4T RIE?

Mama qi xuéxido zud shénme?

3. W & FR M A7




The question was attempted by 144 (100%) out of these 125
(86.8%) candidates scored from 8 to 10 marks. The analysis
shows that 79 (54.8%) candidates out of 125 candidates scored
10 marks, which is a good performance. Moreover, 18 (12.5)
candidates scored from 3 to 6 marks, which is an average
performance and 1 (0.7%) candidate scored 0 mark, which is a
poor performance. The candidates’ general performance in this
question was good because the percentage of the candidates
who scored from 3 to 10 marks was 99.3%. Figure 2
summarizes the candidates’ performance in question 2.

90 -
80 -
70 -
60 -
50 -
40
30 A 12.5

0.7

[3*]
=]
1

10 -

Percentage of the candidates

0-2 3-6 7-10
Scores

Figure 2: The Percentage of candidates’ Performance in Question 2.

The analysis shows that 125 (86.8%) candidates who scored
from 8 to 10 marks were able to read and understand the
passage. This enabled them to complete the five questions with
the right information from the passage and to write correctly by
using Chinese characters and they also marked pinyin. For
example, in item 4 the question asked %543 R~ & 1+ 42, the
correct answer was #3545 R~ & % 4] (Mother did not like
Beijing Opera). This implies that the candidates had sufficient
knowledge on reading for comprehension in Chinese Language.
Extract 2.1 is a candidates’ good response in question 2.



(4
o
S
S
=

S

2 I yuan doo 15 1 zub chi va vao Vi 9¢ xido

T 7 A
4 Mang bu 4l han jing |1
1535 1. & W B K e
] v TN
5. Mima bt adico qu hd bian da
13 {8 A2 47 47 3 384 11

Extract 2.1 is a sample of a candidates’ good response.

In Extract 2.1, a candidate was able to read the given passage
and answer the questions using Chinese characters correctly.

Further analysis shows that, 18 (12.5%) candidates who scored
from 3 to 6 marks were able to answer some items correctly

while failing others. For example, item 2 asked 2% 2] 4 K 4
%2 %%t ? (How long does it take to take a bus from
the theatre to his home?). According to the passage A # & 4
# Z—~ ) (It takes one hour to take a bus from my home
to the theatre). The candidates understood neither the
requirement of the question nor the meaning of the word % &
B8] (how long), and this made them to supply wrong answers.

In item 5, the question was ¥ 48 F= 43 475 &8 )L 7 L 2 £7?

(Where do mother and grandmother go to play Taiji?).

According to the passage, the statement was #.f11% % —A& &

#3447 KA (They often go to the lakeside to play Taiji
10



together), but the correct answer was #/%Z (lakeside). Some
candidates did not know the meaning of the words in the
sentence as they ended up guessing and copying a sentences
contained words which have Chinese characters that are related
to the characters which meaning mother (#%4%) or grandmother
(¥343). Moreover, some of the candidates failed to write the
correct Chinese characters. This led them to have average
scores. Extract 2.2 is sample of candidates’ average response in
question 2.

o -

9. DS‘G boa 1ou  wanag fhong  ding  d2 piao

2 8 & |y T 4y E

ALl

’

DT yuan dos U xud xiélo Wen  Jin
Bl Pr B OB 5 tw R

. 7 Y ’ ‘o ~ N i 4
D Ma xu2__xiap hu  ban da tal i apan

Mo CI.:J A - - 7YY
18 48 2 2 A% A B 47 K A

D NG Mo bu :;.’ [
45 8 X B XX & R

OMa ma hi nhi nai qu hl  bign dii tw }i quan
$9 %9 Fo 3§ %3 L GWA W 4T K A A

Extract 2.2 is a sample of candidates’ average response.

In Extract 2.2, a candidate was able to write correct answers in
items 1, 4 and 5 but failed in items 2 and 3.

The analysis of the candidates’ performance indicates that 1
(0.7%) candidate scored 0 mark, which is a poor performance.
This candidate did not understand the passage; hence, he/she
failed to complete the five questions with the right information
from the passage. This implies that, the candidate had
insufficient comprehension skills in the Chinese Language.
Extract 2.3 is a candidates’ poor response in question 2.

11



2.2

=l ¢
4 D
2 K
4 C
s (

Extract 2.3 is a sample of candidates’ poor response.

In Extract 2.3, a candidate misunderstood the question and
wrote letters instead of answering the questions by writing
Chinese characters.

Section B: Patterns and vocabulary

This section comprised three questions 3, 4 and 5. Questions 3 and 4
carried 5 marks each and question 5 carried 10 marks, making a total
of 20 marks. The candidates were required to answer all the questions.

2.2.1 Question 3: Filling in the Brackets with Chinese Pinyin
from the Provided Vocabulary

The question was divided into 5 sub-items containing one
vocabulary each. The vocabularies were from the topics of
Housing (sub-topic of Size of a Housing Room) and Family. In
this question, the candidates were instructed to write Chinese
Pinyin. The question tested the candidates’ ability to recognize
the Chinese characters and its pronunciation. The question was
as follows:

Z. BRFHERF
Lird : ni (hdo)
flda: 1R

k() (o) wo () ()i ()

12



The question was attempted by 144 (100%) candidates, of
which 16 (11.1%) candidates scored from 3.5 to 5, among them
1 (0.7) candidate scored 5 marks which is a good performance.
Moreover, 37 (25.7%) candidates scored from 2 to 3 marks,
which is an average performance and 91 (63.2%) candidates
scored from 0 to 1.5 marks, which is a weak performance, out
of these candidates 29 (20.1%) candidates scored zero. The
candidates’ general performance in this question was average,
since 36.8% scored from 2 to 5 marks. Figure 3 summarizes the
candidates’ performance in question 3.

Scores
m0-15
2-3

m35-)

Figure 3: The Percentage of Candidates’ Performance in Question
3.

The analysis of the candidates’ performance shows that, 16
(11.1%) candidates who scored from 3.5 to 5 marks were able
to recognize the given Chinese characters (Hanzi) and hence
wrote the Pinyin correctly. They had adequate competence in
the Chinese characters (Hanzi) and Pinyin. They mastered well
the basic strokes and the four tones and this enabled them to
write the Chinese characters. This implies that, the candidates
understood the demand of the question and had the ability to
mark the tones correctly to the Pinyin. Extract 3.1 is a sample
of candidates’ good response in question 3.

13



=1 't'mg B
2.y
3. Sh
4 zhim
J
5. Y

Extract 3.1 is a sample of a candidates’ good response.

In Extract 3.1, a candidate was able to write the correct pinyin
in all items.

Further analysis indicates that 37 (25.7%) candidates scored
from 2 to 3 marks, which is an average performance. They
were able to recognize some of the characters but failed in
other characters. Some of them wrote the Pinyin correctly but
failed to mark the tones in the right position. These candidates
had partial knowledge on how to mark the tones in the Chinese
Language.

The candidates also failed to write the correct pinyin because of
the similarity of pronunciation. For example, in item 5, the
candidates failed to differentiate the pinyin Y7 in the word # ¥
Yizi (chair) from the pinyin — Y7 (one), because the two pinyin
differ in tones. Also in item 4, the word #45% Zhéngqi (in good
order) the first character in this word % Zhéng, it’s radical is
# Chi, this distracted the candidates, as one of them wrote
Cha. The analysis reveals that the candidates had insufficient
knowledge on recognizing the Chinese characters (Hanzi) as
well as on using the consonant, the vowel and the tone in a
syllable. Extract 3.2 is a sample of candidates’ average
response in question 3.

14



= 1| i

g

2. Zh
3. Jh
L Chy
51 yi

Extract 3.2 is a sample of an average response.

In Extract 3.2, a candidate was able to write correct pinyin in
item 1 and 3 but failed in items 2, 4 and 5.

Furthermore, 91 (63.2%) candidates scored from 0 to 1.5 marks,
which is a poor performance. These students failed to recognize
the given Chinese characters (Hanzi) and hence failed to write
the correct Pinyin. This implies that, they had inadequate
competence in Chinese characters (Hanzi) and Pinyin. Other
candidates copied Pinyin from other questions and wrote them
as answers. Few candidates left the blanks unfilled. This
implies that, these candidates had insufficient knowledge on
recognition of characters and Tone-Mark-Rule in the Chinese
Language. Extract 3.3 is a sample of a candidates’ poor
response in question 3.

3 7Sy
Y ;}w'c‘fo

37 UAC\:ﬂq

41 Jiay

| 5 T Ming

-

Extract 3.3 is a sample of poor candidates’ response.

In Extract 3.3, a candidate failed to write the pinyin for the
characters given.

15



2.2.2  Question 4: Filling in the Brackets with Chinese Character
from the Provided Vocabulary

This question was divided into 5 sub-items containing one
vocabulary each. The vocabularies were from the topic of
Personal information. The candidates were instructed to write
Chinese characters. The question tested the candidates’ ability
to recognize and write the correct Chinese characters for
different pinyin. The question was as follows:

@, AREHE BT
Lira
R = hio
AR) 4F
shén me Beéi  jing péng  you
1. C )z 2. CYF 3. )Y A
di fang ming zi
4. ¥ C ) 5. &% C )

The question was attempted by 144 (100%) candidates. Among
them, 138 (95.8%) candidates scored from 3.5 to 5 marks and
111 (77.08) out of these candidates scored 5 marks which is a
good performance. 6 (4.2%) candidates scored from 2.5 to 3
marks, which is an average performance. Furthermore, there
were no candidates who scored from 0 to 1.5 marks. The
candidates’ general performance in this question was good,
since all 144 (100%) candidates scored from 2 to 5 marks.
Figure 4 summarizes the candidates’ performance in question 4.

16



95.8
100 ~

90 A
80
70 A
60 A
50 4
40 ~
30 A
20 +

Percentage of the candidates

0 4.2
10 A l
a_ |
0 T :
0-15 2-3 35-5
Scores

Figure 4: The Percentage of Candidates’ Performance in Question
4,

The analysis of the candidates’ performance indicates that, 138
(95.8%) candidates who scored from 3.5 to 5 marks were able
to read and understand the vocabularies provided, hence
responded to the question correctly. These candidates had
sufficient knowledge on Chinese characters and pinyin. They
identified the character related to the given pinyin. This implies
that the candidates mastered well the writing of characters and
the marking of the tones on the pinyin. Extract 4.1 is a sample
of a candidates’ good response in question 4.

w1l At
2.1 A6
3| HH
4| A
5| 7

Extract 4.1 is a sample of candidates’ good response.

In Extract 4.1, a candidate was able to write the characters
correctly.

17




2.2.3

Moreover, the analysis indicates that, 6 (4.2%) candidates who
scored from 2 to 3 marks were able to give correct answers in
some items and failed in others. For example, in item 1, some
of the candidate recognized the character 11 but failed to write

it correctly. In item 5, they mixed Chinese characters % and 7
because they are pronounced in the same way. This indicates
that, the candidates had partial knowledge on Chinese
characters writing. Extract 4.2 is a sample of candidates’
average response in question 4.

oAt
2 4.
s AR
4. 3

e
v

Extract 4.2 is a sample of candidates’ average response.

In Extract 4.2, a candidate was able to write correct characters in
items 2, 3 and 4, but failed in items 1 and 5.

Question 5: Choosing the Correct Character from the
Given Two Similar Characters

The question had 5 sub-items containing one sentence each.
The questions were from the topic of Housing and shopping.
The candidates were instructed to choose one Chinese character
between two similar characters. The similarities were either in
morphology or in pronunciation. The question tested the
candidates’ ability to recognize the Chinese characters. The
question was as follows:
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FREET

Lird:  Wo jid you kou rén.

fide: K F A0 Ao (/)

Da jia dou chi ldo shi zud de didnxin .

LOKE A vE IR M8 Au. (B/%)
Nainai shén bu shifu, tui yé téng, jido yé téng.

2. ol & T AR, R R, Bl R (R/R)
Zhonggué de nannii shao dou  xihuan pingpangqid .

3. # B #® A% Vv oH &Kk EER, (B/8)
Baba de Zhonggud cai  hén  héochi.

4. & W oWwE E O’ L. (/)
Yioshi ni shéngbing le, jin qu kan yisheng, hén  yong de .

5 B Kk E o T, itk A BA R M (X
#)

This question was attempted by 144 (100%) candidates.
Among these, 83 (57.6%) candidates scored from 8 to 10 marks,
of which 33 (22.9%) candidates scored 10 marks, which is a
good performance. 55 (38.2%) candidates scored from 4 to 6
marks, which is an average performance and 6 (4.2%)
candidates scored from 0 to 2 marks, which is a weak
performance. Moreover, 1 (0.7%) candidate scored zero. The
candidates’ general performance in this question was good,
since 138 (95.6%) candidates scored from 4 to 10 marks.
Figure 5 summarizes the candidates’ performance in question
5.

100
90 -
80
70 -
60 -
50 -
40
30 -
20
10 4.2

57.6

Percentage of the Candidates

0-2 4-6 8-10
Scores

Figure 5: The Percentage of Candidates’ Performance in Question
5.
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The analysis of candidates’ performance indicates that, 83
(57.6%) candidates scored high marks because they were able
to complete the sentences by choosing the correct words
provided in the brackets. These candidates were able to
differentiate the meaning of the two characters given and
choose the correct answer. For example, in item 1, they wrote
the correct answer which was %% ai (like). The analysis shows
that, they mastered well the strokes and the Tone - Mark — Rule.
This indicates that, these candidates understood the meaning of
the whole sentence and had the ability to recognize the correct
Chinese characters (Hanzi) from similar characters provided.
Extract 5.1 is a candidates’ good response in question 5.

N\

-

Y

:‘ﬁ_ il

O
ke

\

y Yl

Extract 5.1 is a sample of candidates’ good response.

-
. -

In Extract 5.1, a candidate managed to write correct answers in
all items.

There were 55 (38.2%) candidates who scored from 4 to 6
marks which is an average performance. The analysis shows
that, the majority of the candidates were able to write correct
answers in some items but failed in others. The items in which
the candidates scored 0 mark had similar Chinese characters
(Hanzi) and this made it difficult for the candidates to choose
the correct one. For example, in item 1 alternatives 77 /%%
(love/receive), the correct answer was % but the candidates
chose 3. In item 2, the alternatives were Kk/{£& (cease/body)
and the correct answer was 1A, the candidates chose alternative
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f&. This implies that, the candidates had partial knowledge on
recognizing Chinese characters. Extract 5.2 is a sample of
candidates’ average response.

=
S

=

*
|

0 1

g
a2
JEVES

Extract 5.2 is a sample of candidates’ average response.

In Extract 5.2, a candidate was able to write correct answers in
items 1, 4 and 5, but failed in items 2 and 3.

However, 6 (4.2%) candidates scored low marks because they
had inadequate knowledge on the Chinese characters. They
picked the alternative choices by guessing. Moreover, some of
the candidates added extra strokes or lost some strokes and this
made them to score low marks. Extract 5.3 is a sample of a
poor candidates’ response in question 5.

F10| A
2| T4
3|5

J /L\

5| 78

Extract 5.3 is a sample of candidates’ poor response.

In Extract 5.3, a candidate wrote incorrect characters in all
items.
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2.3

Section C: Grammar Patterns

This section consisted of three questions, which are question 6, 7 and 8.
Question 6 and 7 carried 5 marks each and question 8 carried 10
marks, making a total of 20 marks for the whole section. The
candidates were instructed to answer all questions.

2.3.1 Question 6: Multiple Choices

This question consisted of five items and each item was worth
1 mark making a total of 5 marks. The candidates were given
alternatives A, B, C and D from which they were to choose and
fill in the blanks to make a meaningful sentence. The questions
were from the topic of Travel and Custom. It tested the
candidates’ ability in Chinese Language grammar. The question
was as follows:

GEge hé wo xihuan  lixing.
1. #FF A & ) B aRAT.
yi yang yi qi yi xie vi gdng
A —H B —— &2 O — b D —at
Ta zhéng shud nine . ni lar e .
2. 4 B 3L AR R, AR ) R OT .
cdi dou jin hai
A F B Al c D AL
Wo jia qi xié zuoye , hdi gl Hixing .
3. #& M ( ) B AEdk, i RIT
suiran yinwei yaoshi chiile
A R B BAA c B DT
Wo xihuan zud feijn, xihuan zud hudché .
4. i BB oA e, ( PRI LR S
zal yé cai dou
A B AL c D AR
Zhonggud suiran  yuin , wo  hén xiang qi .
5 F H gL i, ( DI R R S R
kénéng sud yi ymwel késhi
A YT EE B BT VA C HA D TR

This question was attempted by 144 (100%) candidates, of
which 51 (35.4%) candidates scored from 4 to 5 marks, among
22



them 16 (11.1%) candidates scored 5 marks, which is a good
performance. Moreover, 86 (59.7%) candidates scored from 2
to 3 marks, which is an average performance and 7 (4.9%)
candidates scored from O to 1 mark, which is a weak
performance. Furthermore, 2 (1.4%) candidates scored 0. The
candidates’ general performance in this question was good as
95.1 percent scored from 2 to 5 marks. Figure 6 summarizes the
candidates’ performance in question 6.

100 -
90 -
80 -
70 -
60 -
50 -
40 - 354
30 -
20 -

10 - 49
0 : :
0-1 2-3 4-5

Score

59.7

Percentage of the Candidates

Figure 6: The Percentage of Candidates’ Performance in Question
6.

The analysis indicates that, 51 (35.4%) candidates scored from
4 to 5 marks, which is a good performance. These candidates
managed to fill in the blanks with the correct answers. The
analysis shows that the candidates understood the meaning of
the sentence and the alternatives given. This evidences that, the
candidates mastered well the Chinese grammar. Extract 6.1 is a
sample of a candidates’ good response in question 6.

L
/No

o il el
o o F 0 >

Extract 6.1 is a sample of good response.
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In Extract 6.1, a candidate was able to fill in the blanks by
choosing the correct answers.

Further analysis indicates that, 86 (59.7%) candidates scored
from 2 to 3 marks, which is an average performance. The
majority of these candidates were able to choose the correct
answers for item 4 and 5, but failed to answer items 1, 2 and 3.
For example, in item 2, many candidates selected the
alternative B, but the correct answer was C. The candidates
who chose alternative B, failed to differentiate between #f and
#t . The candidates’ failure is attributable to their lack of
mastery of regular grammar pattern 1F...... ... (Somebody
is doing something and then another thing happens).

In item 3, some candidates mixed the two grammar patterns,
they chose alternative C #-2--+ (3t) instead of the correct
answer A R T «eeeee EZRRLREE (Except....... also....), which is a
regular grammar pattern. The analysis implies that, these
candidates did not know that i& had to be follow after i% 7.
The analysis indicates further that some candidates who chose
alternative B —#2 (together) in item 1 made a word to word
translation of the question & AF=#& (....) &3k#&4T (Elder
brother and I (...... ) like traveling.) in Kiswahili (Kaka na
mimi wote tunapenda kusafiri — Elder brother and 1 all like
travelling). The pattern is not correct in the Chinese Language.
This implies that the candidates had partial knowledge on
Chinese Language grammar and sentence patterns. Extract 6.2
is sample candidate’s average response in question 6.

LY
¥
—

VAN

DGGG‘JGQ:}:_

o | = | | —

Extract 6.2 is a sample of an average response.
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2.3.2

In Extract 6.2, a candidate was able to write correct answers in items
1, 4 and 5 but wrote wrong answers in items 2 and 3.

The analysis of candidates’ performance indicates that, 7 (4.9%)
candidates scored from O to 1 mark, which is a poor
performance. These candidates failed to identify the correct
grammar patterns due to lack of understanding the meaning of
the sentences and alternatives, hence they chose the alternatives
by guessing. The analysis indicates that these candidates did
not understand the requirement of the question. Extract 6.3 is a
sample of a candidates’ poor response in question 6.

=1 B
2 A
- 8
T A
b

Extract 6.3 is a sample of candidates’ poor response.

In extract 6.3, a candidate wrote incorrect answers in all items.

Question 7: Choosing the Correct Vocabulary from the
Given Two Similar Patterns

In this question, the candidates were instructed to choose the
correct answer from the given two similar characters. The
question was from the topics of Travel and Custom, Time,
Health, and Entertainment. This question tested the candidates’
ability to demonstrate the grammar patterns in the Chinese
Language. The question was as follows:
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Ho,  REAR A-GEAGIE A S T. BLFIAE
Lirte Wa laosht.
Wk g4 A& BIF. (R
Zudtian  léng.
1.0EE AL (OR/HED
Jingju bidoyan chixd lidng ge ban
2. W) RUE Fraem A o CaF /55D
Xiaohong yao zai Niliyué san tian.
3. NEr T Aty ZF. (FFAE/AFE)
Tamen dao jiaqi qu Hixing.
4. fbAT] =) 4 A Fea it (e e/ e T
Meimei qui de shihou, xiéngmao zud youxi.
5. dkdk £ a9nTAE, AR fo k., (B2 /B )

This question was attempted by 144 (100%) candidates, out of
whom 60 (41.6%) candidates scored from 4 to 5 marks, which
is a good performance. Moreover, 79 (54.9%) candidates
scored from 2 to 3 marks, which is an average performance and
5 (3.5%) candidates scored from 0 to 1 mark, which is a weak
performance. The candidates’ general performance in this
question was good as 96.5% percent scored from 2 to 5 marks.
Figure 7 summarizes the candidates’ performance in question
1.

100
90 -
80
70 - 57.6

60 41.7
50

40 A
30 1
20 -+
10 A

Percentage of the Candidates

0-1 2-3 4-5

Scores

Figure 7: The Percentage of Candidates’ Performance in Question
7.

The analysis of candidates’ performance indicates that, 60
(41.6%) candidates scored from 4 to 5 marks, they were able to
choose the correct answer from the two similar alternatives
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because they had knowledge of the Chinese grammar and
patterns, good command of Chinese Language; they also had an
ability to differentiate the two similar words and vocabularies.
Extract 7.1 is a sample of a candidates’ good response in
question 7.

VAT S

9. £ 5L,
3 15 4

5 EE,

Extract 7.1 is a sample of a candidates’ good response

In Extract 7.1, a candidate was able to write the correct answers
in all items.

Furthermore, the analysis shows that, 79 (54.9%) candidates
scored from 2 to 3 marks. They were able to answer some items
and failed other items. Some of them failed in item 3, whose
question was &AM () =X (Xiaohong want to
(___) in New York for three days) and the alternatives were 7+
45/1% ¥ (start/stay). These candidates failed to recognize the
two Chinese characters and did not understand their meaning.
For item 4, the questionwas #4171 () BE#A(C_ )&
747 (They (__ ) holiday ( ) go traveling), and the two
alternatives were — -+ %t --+/ & --- T _..(when one thing
happening, at the same time, another happens / ...is going to
happen). The candidates did not know the meaning of the
alternatives and had partial knowledge of the language pattern
given. Extract 7.2 is a response by the candidates who
performed averagely in question 7.
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2.3.3

><}\r,,
or

(/:r-h- s |85 = G“
o R ||
ol

’1-4

Extract 7.2 is a sample of candidates’ average response.

In Extract 7.2, a candidate managed to write correct answers in items
1, 2 and 5 but failed in item 3 and 4.

Further analysis of the candidates’ performance in question 7
indicates that, 5 (3.5%) candidates scored from 0 to 1 mark,
which is a weak performance. Those candidates failed to
choose the correct answer from the two similar alternatives due
to their inadequate knowledge of the Chinese grammar and
patterns, poor command of Chinese Language and inability to
differentiate two similar words and vocabularies. Other
candidates left the questions unanswered, hence they scored
low marks. Extract 7.3 is a response provided by one of the
candidates who scored poorly.

Extract 7.3 is a sample of a candidates’ poor response.
In Extract 7.3 a candidate provided wrong answers in all items.

Question 8: Re-arranging the Jumbled Words into
Sentences

This question was divided into 5 sub-items; each sub-item

contained four to five words. These words were from the topics

of Travel and Custom. In this section, the candidates were
28



instructed to re-arrange the four or five given words into a
logical order to form a correct and meaningful sentence by
writing the number of the corresponding word. The question
tested the candidates’ ability to make correct sentences by
following the rules of constituents in Chinese sentences. The
question was as follows:

A )
Lirdg: shi Zhongguo wo rén
Flde: DA @+ =B @ 4% @A
DD _
llixing qi wo xidng
1. D3RAT @+ 4% @
na lai le wo ba KTnnidniiwin
2. DERT @&, (©E @ #7 4R #L4%
141 wo shi zudhuodche de
3. Mk @D A2 @4 I F @8y
wo yao dao Zhongguod qn céng Meéiguo
4. D% & @ F = (©FS @M FH
chéngshi tai nage yuan ba
5. DT @k @Ak A~ @ik &7

The question was attempted by 144 (100%) candidates. Among
these, only 20 (13.9%) candidates scored from 8 to 10 marks,
only 7 (4.9%) candidates out of these scored 10 marks, which is
a good performance. 60 (41.7%) candidates scored from 4 to 6
marks, which is an average performance. Moreover, 64 (44.4%)
candidates scored from 0 to 2 marks, which is a weak
performance and 9 (6.3%) candidates out of these scored 0. The
candidates’ general performance in this question was average,
since (55.6%) percent of the candidates scored from 4 to 10
marks. Figure 8 summarizes the candidates’ performance in
question 8.
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Scores

m (-2
4-6

m8-10

Figure 8: The Percentage of Candidates’ Performance in Question
8.

Further analysis shows that, 60 (41.7%) candidates scored from
4 to 6 marks, which is an average performance. The majority of
candidates managed to answer item 1, 4 and 5 correctly, but
failed to attempt items 2 and 3. The candidates who failed in
item 2 had inadequate knowledge on the regular Chinese
sentence patterns, which are; Subject (£733) + 4& + Object
(&1&) + verb phrase (#1423%). For example, the correct
answer was FZICHF4L4E % T (I bring the New Year gift),
but most of the candidates wrote #& f& 4 % T # F 4L 4
(Nachukua zawadi ya Krismasi) because they made a word to
word translation from Kiswahili to Chinese. Those who got
wrong item 3 lacked knowledge on the regular Chinese
sentence pattern: Subject (£133]) + & (be) + transportation +
& (come) + #9. For example, the correct answer was & & 4
K % k4 (I came by Train), but the candidates wrote #& 2 %k
a9 4 K % (I came to take a Train). Extract 8.1 is a sample of
candidates’ average response in this question 8.
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HOIGEON0)
2. Q00®
0000
£ ORE
500 @L@@

||

Extract 8.1 is a sample of the candidates’ average response.

In Extract 8.1, a candidate was able to re-arrange items 1, 4 and
5 but failed in items 2 and 3.

The analysis of candidates’ performance indicates that, 20
(13.9%) candidates scored from 8 to 10 marks. These
candidates had a good command of the Chinese Language
which enabled them to re-arrange the jumbled words and wrote
sentences in a logical order. Extract 8.2 is a sample of
candidates’ good response in question 8.

- A0 @Q.
1@ QO0.
3 @008

4. 00 @0,
s Q06 Q.

Extract 8.2 is a sample of a candidates’ good response.

In Extract 8.2, a candidate was able to re-arrange all sentences
according to the requirement of the question.

Moreover, the analysis of the candidates’ performance indicates
that, 64 (44.4%) candidates scored from O to 2 marks, which is
a poor performance. These candidates had a poor command of
the Chinese Language and vocabulary and they lacked skills on
how to re-arrange jumbled words. Therefore, these candidates
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2.4

scored O marks in this question. Extract 8.3 is a response
provided by a candidate.

y 118 0060
o] BB6G

7T OO

N0RO102E)

g8 0600

Extract 8.3 shows a sample of poor response.

In Extract 8.3, a candidate did not manage to give the correct
answers in all items.

Section D: Language Use

This section comprised three questions: 9, 10 and 11. Questions 9 and
10 carried 5 marks each and question 11 carried 10 marks, making a
total of 20 marks.

2.4.1 Question 9: Matching Items

In this question, the candidates were instructed to match items
in column A with those in column B, in order to make a
meaningful dialogue. The candidates were required to write the
correct letters corresponding to items numbers. Column A
consisted of five sentences on the topics of Entertainment,
School life, and Health. Whereas column B consisted of seven
alternatives, the candidates were supposed to match with those
in column A. The question was as follows:
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M AR B
Ni hao! yiyuan.
1. A ! El%.
XingaT lilt Xidohdi q liting kan shénme 7 mianbo.
|2 EHRDE FALEALA? @,
Tamen fangxué hou zuo shénme yindong? Gongfu ke.
3. fefl A B A EH? KR
Tashi yi ming yisheng, z&indr gongzuo? didnndo.
4R —4 EBE, AAILIAE? B
Ni mama wei ni zhiinbéi le shénme winfan? da langid.
5. BB Ah e THL BIA T TER.
Xingq lid, @ you shénme ke? Ni hio!
6. B, WA 4 i {RdF |
kan bidoydn.
‘ zhudzl.
HoRF

The question was attempted by 144 (100%) candidates, of
whom 119 (82.6%) scored from 4 to 5 marks, 97 (67.4%)
candidates scored 5 marks, which is a good performance.
Moreover, the analysis reveals that 20 (13.9%) scored 2 to 3
marks, which is an average performance. Furthermore, 5 (3.5%)
candidates scored 0 to 1 mark, where 1 (0.7%) candidate scored
0. The candidates’ general performance in this question was
good, since 96.5% scored from 3 to 5 marks. Figure 9

summarizes the candidates’ performance in question 9.
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Scores
m0-1

2-3
m4-3

Figure 9: The Percentage of Candidates’ Performance in Question
9.

The candidates’ performance analysis indicates that, 119
(82.6%) candidates scored from 4 to 5 marks, which is a good
performance. These candidates had good command of the
Chinese Language and were able to comprehend the meaning
of each of the items provided. Therefore, they managed to
match all the items in column A with corresponding items in
column B correctly. Extract 9.1 is a candidates’ good response
in question 9.

——

h.

- F
&
- E
A
B
- C

|0 |- (oo |rs |—

Extract 9.1 is a sample of the candidates’ good response.

In Extract 9.1, a candidate was able to match the given words from
column A with those of column B correctly.

Further analysis shows that, 20 (13.9%) candidates scored from
3 to 4 marks, which is an average performance. Those who
failed to select correct answers had insufficient knowledge of
Chinese vocabularies and were not capable of using the
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language in different situations. Extract 9.2 is a sample of the
candidates’ average response in question 9.

Y F

V)G
) C

I -
Extract 9.2 is a sample of candidates’ average response.

In Extract 9.2, a candidate was able to write correct answers in
items 3, 4 and 6; but failed in items 2 and 5.

On the other hand, the analysis of candidates’ performance
indicates that, 5 (3.5%) candidates who scored from 0 to 1
mark, did not understand the requirement of the question. This
hindered them from matching all the items in column A with
those in column B correctly. The analysis shows that, these
candidates also lacked Chinese vocabularies which made them
to answer questions by guessing, hence scored zero. Extract 9.1
is a sample of the candidates’ poor response in question 9.

Al D

5 T ¢

Extract 9.3 is a sample of the candidates’ poor response.

In Extract 9.3, a candidate wrote incorrect answers in all items.
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2.4.2 Question 10: Filling in the Blanks by Using the Given
Words in the List

In this question, candidates were provided with alternative A,
B, C, D and E with Chinese characters and they were required
to fill in the brackets in the given 5 items by writing the letters
of the correct answers from the list. The question was from the
topic of Media. This question tested the candidates’ knowledge
on vocabulary and grammar patterns. Alternative F was given
as an example. The question was as follows:

+. kEHT, HF-REELHE,
AES  BEAE  CHL DHW  EHA FAF

Ni  jido shéenme

% 1 H4 CF )7
Yéye ddu zhidao,

2. %% ( ) # i,

Ni méimei changgé zhén

3. Mk ks AR A )

Bisal kual yao te.
4. E B & ( ) To
Gége géi ta de péngyou da dianhui.

5. FF () BREMA AT,

Chénglong shi guoji de yényuan.

6. B £ RERF ) f R

The question was attempted by 144 (100%) candidates, of
which 51 (35.4%) candidates scored from 4 to 5 marks, where
51 (35.4%) candidates out of these scored 5 marks, which is a
good performance. Moreover, 51 (35.4%) candidates scored
from 2 to 3 marks, which is an average performance and 42
(29.2%) candidates scored from 0 to 1 mark, which is a weak
performance. Furthermore, 13 (9.0%) candidates scored 0. The
candidates’ general performance in this question was good,
because 70.8 percent scored from 2 to 5 marks. Figure 10
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summarizes the candidates’ performance in question 10.

Scores

m0-1
m2-3
4-5

Figure 10: The Percentage of Candidates’ Performance in Question
10.

The candidates’ performance analysis in this question indicates
that, 51 (35.4%) candidates who scored from 4 to 5 marks,
which is a good performance, had good command of the
Chinese Language and had adequate knowledge on
vocabularies and grammar patterns. This enabled them to
choose the correct answer and form a meaningful sentence.
Extract 10.1 is a sample of a candidates’ good response in
question 10.

[+

>0 e [T

Extract 10.1 is a sample of the candidates’ good response.

In Extract 10.1, a candidate filled the brackets with the correct
answers in all items.
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Further analysis shows that, 51 (35.4%) candidates who scored
from 2 to 3 marks managed to answer some items, but failed
others. For example, in item 2, the question was ¥ % ()
#k %4218 and the correct answer was alternative E f+ 4, but
most of the candidates wrote the wrong answer since they did
not notice the grammar pattern  somebody + 1+ 4 + #f +
verb. In item 5 tested the grammar pattern somebody + iE & +
do something. The candidates wrote wrong answers because
they did not master this grammar patterns. Extract 10.2 is a
sample of candidates’ average response in question 10.

H". o F -
0. B
0z b
oy-C
05k
oo A

Extract 10.2 is a sample of the candidates’ average response.

In Extract 10.2, a candidate filled in the brackets with correct
responses in items 3, 4 and 6; but failed in items 1 and 5.

On the other hand, the analysis shows that, 42 (29.2%)
candidates scored from O to 1 mark, which is a weak
performance. These candidates lacked mastery of the Chinese
Language and knowledge on vocabularies and grammar
patterns. Hence, they were not able to choose the correct
answer. Extract 10.3 is a poor response written by one of the
candidates.
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2.4.3

t1 [ F
2 K
2z
¢ D
I A

[ -C

Extract 10.3 is a sample of the candidates’ poor response.

In Extract 10.3, a candidate failed to fill in the brackets with the
correct answers in all items.

Question 11: Answering the Questions Using Chinese
Characters

In this question, candidates were provided with 5 sub-
questions, which required them to answer the given questions
correctly by using their own words with Chinese characters
from the topic of City and Environment. The question tested
the candidates’ ability to express themselves in Chinese. The
question was as follows:
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+—. WA EAE, ARFEE,
Lirg:  Nijidao shénme mingzi?
) de s AR A BT
W jiao Xidoming.

F&mf A~ Wi

Gongyuan li ydu shénme yanse de hud ?

1. NE OB A4 AREESI?

Ni shi zénme qu xuéxiao de?

2. A EAFFI A7

N xihuan g nar  sanbi ?
3. Bk EPRILE S ?

. . . U
Nimen chéngshi de kdngql zénmeyang -

4. AR RT MER EAKT

e « P
Ni zui xihuan na ge jije !

5. Mk RER MAFH?

=1

The question was attempted by 144 (100%) candidates, of
which 23 (16.0%) candidates scored from 6.5 to 10 marks,
which is a good performance. Moreover, 75 (52.1%) candidates
scored from 3 to 6 marks, which is an average performance and
46 (31.9%) candidates scored from 0 to 2 marks, which is a
weak performance. The candidates’ general performnce in this
question was good, because 68.1 percent scored from 3 to 10

marks. Figure 11 summarizes the candidates’ performance in
question 11.
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Percentage of the Candidates
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Figure 11: The Percentage of Candidates’ Performance in Question

11.

The analysis of the candidates’ performance in this question
indicates that, 23 (16.0%) candidates who scored from 6.5 to 10
marks, had sufficient knowledge on Chinese Language. They
also understood the requirement of the questions and they were
able to answer the question by using the Chinese characters
(Hanzi). Extract 11.1 is sample of a candidates’ good response
in question 11.

-1 1. Gono Ludn 1Y ub’u héno, s de h i
7N F T 7
Q. '/\L o _=uo hud chz cgu )(\t;t’Q; Alcio de
#H Z Kz K2 F= B
3. W\ﬁ élﬂ n artr. q bian <an b:‘.
¥ (=) 7 7~ 7
. \NEmon chim H do king q) hon b adn )
AN T 5 = AR o
5. Wl:.f Zu) {j_ihu:m X1 tian
EAEE AR /- I
ST =) = A2

Extract 11.1 is a sample of the candidates’ good response.

In Extract 11.1, a candidate answered all the questions correctly.
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Further analysis shows that, 75 (52.1%) candidates who scored
from 3 to 6 marks were able to answer some items while failing
others. For example, in item 4, the question was 4 {113& 7 &9 =
UE 247  (How is the atmosphere quality in your city? The
answer was supposed to be good or bad; but most of candidates
answered it by referring to cold or hot due to their inability to
differentiate the two words = %, (atmosphere) and X A..

In item 5, the question was 4% & &K #2552 (Which
season do you like most?). This question was performed poorly
because the majority of candidates gave answers about festival
instead of season. The reason behind was the presence of the
character 3 jié which means festival. They did not realize that
the combination of the character 2 ji and ¥ jié, results into the
character Z 37 jijié which means season. Extract 11.2 is a
sample of the candidates’ average response in this question 11.
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Extract 11.2 is a sample of the Candldates average response.
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In Extract 11.2, a candidate wrote correct answers in items 1, 2
and 3; failed in items 4 and 5.
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2.5

On the other hand, the analysis shows that, 46 (31.9%)
candidates scored from 0 to 2 marks, which is a poor
performance. These candidates had poor command of the
Chinese Language and thid hindered them from understanding
the requirement of the question. They were also not able to
answer the question by using correct Chinese characters (Hanzi)
instead they wrote pinyin. Extract 11.3 is a sample of the
candidates’ poor response in question 11.
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" _ ‘ o - 7
Sk w0 2u X1 lhuan _ nd gt J’,\Jp@ u
Zl" “\Jd mn t}\)fﬂn ihe &Q kt';nn o hap' }jﬂm.’}i _‘._l
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Extract 11.3 is a sample of the candidates’ poor response.

In Extract 11.3, a candidate failed to answer all the five items
and wrote pinyin instead of Chinese Characters.

Section E: Composition

This section had two questions which are 12 and 13. Question 12
comprised of five jumbled sentences which the candidates were
instructed to re-arrange into a logical sequence to make a meaningful
paragraph by writing letters corresponding to the correct sentences.
Question 13 was about a guided composition whereby the candidates
were instructed to write a composition by using Chinese characters
(Hanzi) only. Each question carried 10 marks, making a total of 20
marks in this section. The questions tested the candidates’ ability to
write and to express themselves appropriately and logically using the
Chinese Language.
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2.5.1 Question 12: Re-arranging the Jumbled Sentences to make
a meaningful paragraph

The question consisted of six sentences and the candidates were
instructed to re-arrange the jumbled sentences to make a
meaningful paragraph by writing a letter of the corresponding
number in the table provided. Each item was worth 2 marks
making a total of 10 marks. The question tested the candidates’
ability to relate events in a logical manner. The whole
paragraph was supposed to be organized in a chronological
order by using the indicators of words which referred to time
and event behaviors. For example, 4~ X ¥ _E (this morning), %
1 (go to park), T (to rain), ®1% 7T (the rain stopped).
The question was from the topic of Environment. The question
was as follows:

o A TEOFTENRHS, AR, BT —aLa%,

Taijiqudn tai you yisi le! W0 xihuan de bl dé lido!

AKBERAEEZT! & EX HAFT!

Bange zhdngtou hou, yiting le hén dud rén ql gdngyuan h sanbit,

B EAMK B, MIET, & Ak AR ZHT.

Danshi ya hén xido, tianqi bl léng y& bu re.

C {22 ik b, RARAELSK,

D LA AL NE WL FTRRE.

Yidao gongyudn, il xidyil le.

E —2 »HE, L£THT.

Jintian zioshang, wo cdng jia zuoche qi gdngyuan.

FAR T, & K E4%5 L NES
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The question was attempted by 144 (100%) candidates, of
which 63 (43.7%) candidates scored from 4 to 5 marks, which
is a good performance. Moreover, 39 (27.1%) candidates
scored from 2 to 3 marks, which is an average performance and
42 (29.2%) candidates scored from 0 to 1 mark, which is a
weak performance. The candidates’ general performnce in this
question was good, because 70.8 percent scored from 4 to 10
marks. Figure 12 summarizes the candidates’ performance in
question 12.
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Figure 12: The Percentage of Candidates’ Performance in Question
12.

The candidates’ performance analysis shows that, 63 (43.7%)
candidates who scored 8 to 10 marks, which is a good
performance, had good mastery of the Chinese Language. They
had also adequate knowledge on reading for comprehension
and had ability to relate jumbled sentences in a logical manner.
Furthermore, the candidates managed to identify the key
information showing sequence of events. For example, they
knew that, the sentence — %]/~ &, s F & T (It started
raining when 1 arrived at the park.) was supposed to be the first
sentence, because of the word —#]--- £ (when | arrived)
indicates the beginning of the event. They also noticed that, the
sentence 2% # R ), X T4 # (But there was a little
rain, not cold and not hot.) was supposed to be the second
because of the word 12 & (but) that indicates the continuation

45



of the event.

With regard to the third sentence, the candidates who got it
right. They also knew that the sentence ¥ A%k 5, @iz
T, fR%AEARZHF (Half an hour later, the rain stopped,
many people went to park to take a walk) was supposed to be
the third sentence because of the phrases F A3k s, @iz T
(Half an hour later, the rain stopped) which explains about the
stopage of the rain. They also recognised the sentence i£ & %
A E a9 #2471 K& (There were also old people who
played Taiji at the lakeside in the park.) to be the fourth
sentence because of the word it 7% ( there were also) that
indicates continuation of the sequence of events from the
stoppage of the rain to playing Taiji in the park. Lastly, they
knew that, the sentence K A KA &2 7 | KERF R F
T ! (Taiji is very interesting, and | love it so much.) was
supposed to be the last sentense because of the word KR4
indicating that the event of playing taiji is very interesting.
Extract 12.1 is a sample of a candidates’ good response in
question 12.
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Extract 12.1 is a sample of the candidates’ good response.

In Extract 12.1, a candidate was able to re-arrange the jumbled
sentence by writing a letter of the corresponding number.

Further analysis shows that 39 (27.1%) candidates scored from

4 to 6 marks, which is an average performance. These

candidates managed to re-arrange some items but failed others.

Items 3 and 4, both were about the same event of rain, but the

candidates did not know which sentence between the two had
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to start.

In item 3, most of the candidates were familiar with the word
/N which had the same meaning as the word (£F3k (hour).
This caused them to write wrong answer. Extract 12.2 is a
sample of candidates’ average response in question 12.
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Extract 12.2 is a sample of an average response.

In Extract 12.2, a candidate re-arranged correctly the jumbled
sentences in items 4, 5 and 6 by writing the letter to a
corresponding number, but failed in items 2 and 3.

On the other hand, the analysis shows that, 42 (29.2%)
candidates scored from 0 to 2 marks, which is a weak
performance. These candidates had poor command of the
Chinese Language and they had insufficient knowledge on
reading comprehension skills. Furthermore, some candidates
failed to comprehend the whole question and they made a
guesswork by choosing answers randomly. Extract 12.3 is
sample of a poor response written by one of the candidates.

T=- . 2. 3. 4. | .| 6,
FIrnIAlE [C|B

Extract 12.3 is a sample of a candidates’ poor response.

In Extract 12.3, a candidate failed to re-arrange the jumbled
sentences.
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2.5.2  Question 13: Writing Composition
In this question, candidates were instructed to write a
composition titled My Trip. The candidates were supposed to
write the composition relying on the guidelines provided
thereby adding some other information. The question tested the
candidates’ ability on arranging and expressing thoughts
logically by using Chinese characters.

The guiding questions were as follows: (1) #5434k 75 5%
#7? (Which place have you been travelled?) (2) & & Kiz"5?
(Is it far from your home to this place?) (3) 1= /& 4 %492 (How
did you go there?) The guiding words were as follows: (1)
M...... ... (From...to...) (2) &A% (by bus) (3) &
w3 (Airport) (4) K% Z (Train ticket) (5) 1% (to stay).
The candidates were required to write the composition on the
topic of Trips and Travel with the correct grammar and
structure ranging from 70 up to 80 words.

The question was attempted by 144 (100%) candidates, of
which 23 (16.7%) candidates scored from 6.5 to 10 marks,
which is a good performance. Moreover, 69 (47.9%) candidates
scored from 3 to 6 marks, which is an average performance and
51 (35.4%) candidates scored from 0 to 2.5 marks, which is a
weak performance. The candidates’ general performnce in this
question was good, because 64.6% scored from 3 to 10 marks.
Figure 13 summarizes the candidates’ performance in question
13.
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Figure 13: The Percentage of Candidates’ Performance in Question
13.

The analysis of candidates’ performance in this question
indicates that, 24 (16.7%) candidates who scored from 6.5 to 10
marks had ability of arrange and express thoughts logically,
based on the topic provided. Moreover, they had sufficient
writing skills and they adhered to meet the requirements of the
question by answering using the Chinese characters. This
implies that, the candidates mastered well rules governing the
composition writing. However, none of the candidates scored
10 marks in this question because there were some errors in
writing Chinese characters (Hanzi). Some of the candicates
missed some stockes which led to write wrong characters.
Extract 13.1 is a sample of candidates’ good response in
question 13.

49



£]
&
B RmEET R FIA%RE
% %, B5ETL Y RE DT FrFE
: AN, g\ \

v, tEBE R T
E‘LI Iy R ATFST
e TS

3 mfraql[ﬂﬁ]’%@?
TW’L’?,%"‘:&@/{%;M REEATE
AL ZWEE mu? MNEBEXELIR A

vﬁﬂ?},ﬁﬁ
5

Extract 13.1 isa sample of the candidates’ good response.

In Extract 13.1, a sample of a candidates’ good composition with few
errors.

Further analysis shows that, 69 (47.9%) candidates who scored
from 3 to 6 marks, had partial understand on the demand of the
question and lacked basic skills in writing Chinese
composition. However, these candidates faced challenges in
writing the characters because they either added extra strokes
or missed some strokes. Some of them had a limited number of
Chinese characters, because they wrote below 70 characters.
Extract 13.2 is a sample of candidates’ average response in
question 13.
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Extract 13.2 is a sample of the candidates’ average response.

In Extract 13.2, a candidate was able to write a composition
paragraph but had some errors in writing Chinese characters.

On the other hand, the analysis shows that, 51 (35.4%)
candidates who scored from 0 to 2.5 marks lacked the chinese
vocabularies. They also failed to arrange and express thoughts
logically. The candidates’ failure is attributed to their lack of
skills in composition writing. For example, some candidates
copied sentences from other questions on the paper. Others
wrote Chinese pinyin while others used the English Language
to answer the question. Few of them left the question
unanswered, and this made them to score zero. Extract 13.3 is a
sample of the candidates’ poor response in question 13.
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Extract 13.3 is a sample of the candidates’ poor response.
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In Extract 13.3, a candidate wrote a paragraph with the
incorrect sentences using pinyin and characters.
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3.0

PERFORMANCE OF THE CANDIDATES IN EACH TOPIC

The candidates’ performance analysis shows that, five language aspects were
examined in the Chinese Language subject in CSEE 2019. These were
Comprehension, Patterns and Vocabulary, Grammar Patterns, Language Use
and Composition.

The first language aspect was Comprehension which comprised two questions;
that are questions 1 and 2. These two questions were performed well, since
97.9% of candidates scored from 3 to 10 marks, which is a good performance.
Second language aspect was Patterns and Vocabulary, which comprised three
questions: question 3 with the performance of 36.8%, question 4 with the
performance of 100% and question 5 with the performance 95.8%, making an
average of 77.5% which is a good Performance. Third language aspect was
Grammar Patterns which contained three questions. Questions 6, 7 and 8 and
all these had good performance, since the average of all the three questions
was 82.4%.

The fourth language aspect was Language Use which comprised question 9,
10 and 11 had good performance of 78.4%, since all the three questions were
performed above 65%. Last language aspect was Composition comprised two
questions. Questions 12 and 13 had a good performance, since the average of
the two questions was 67.7%, and all the candidates scored from 30% to 100%
marks. This good performance shows that, the candidates had sufficient
knowledge on Chinese vocabulary which enabled them to answer the
questions according to the requirements.

Moreover, the analysis indicates that, questions 3, 8 and 13 which were on
skills of Patterns and Vocabulary Use, Grammar Patterns and Composition
had an average performance, since its Performance was 36.8%, 55.6% and
64.6% respectively.

The candidates performed averagely in question 8 because they could not re-
arrange the jumbled words in a logical order. They also performed averagely
in question 13 because they did not have sufficient knowledge of writing using
Chinese characters. The analysis indicates that, the candidates performed
averagely in these aspects, because they did not master well the principles of
the Chinese vocabulary and the structure of the Chinese Language. Finally,
there was no question that was performed below 30%. The analysis has
revealed that most of the candidates scored from 3.5 to 10 marks. This shows
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5.0

that few candidates did not master well the knowledge on Chinese characters
(Hanzi).

The candidates’ performance in each topic is summarized in the Appendix,
where green colour represents a good performance, yellow colour represents
an average performance and red colour represents a weak performance.

CONCLUSION

The candidates’ performance in Chinese Language subject in Form Four
National Examination 2019 was generally good as all 144 candidates passed
the examination.

According to the analysis, the general performance was good due to the fact
that the candidates who sat for the National Examination passed the
examination by scoring average and good marks. These candidates performed
well because they had good command of the Chinese Language.
Consequently, they managed to apply the principles and rules related to the
use of the Chinese Language.

On the other hand, few candidates performed poorly because they had poor
command of the Chinese Language and lacked the skills in reading for
comprehension which would have enabled them to understand and identify the
demands of the questions. Additionally, some candidates had insufficient
vocabulary and inability to express themselves in the Chinese Language.

RECOMMENDATIONS

In order to improve the candidates’ performance in Chinese Language subject,
in the future it is recommended that:

5.1 Teachers should put more effort on teaching and learning activities by
using different teaching and learning resources such as photos, pictures
and texts while encouraging students to write compositions.

5.2 Teachers should motivate students into the subject and familiarize with
the Chinese writing system including pinyin and Chinese characters. This
can be done by giving them more writing exercises in order to practice
and improve their ability of using Chinese characters.
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5.3 Teachers should encourage students to read more new words and passages
in order to improve their vocabulary and grammar by giving them simple
texts.

54



APPENDIX

Summary of Candidates’ Performance per Topic for the Chinese Language Subject in

CSEE 2019
% of Candidates % of Candidates
an who Scored an who Scored an
SIN Topic Number Average of 30 Average of 30 Remarks
Percent or Above | Percent or Above
in each Question in each Topic
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